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88 165017V —> a1y — CL-850 380,000 | 453,000 [20254E5 4 1 B
88 16502|7)—> ey d1— CL-600 280,000 334,000 [20254F5 4 1 B @A
87 16505377 )—r 7 — 2 KCB-112 220,000 [ 253,000 [20254E5 4 1 A 36/
87 165064377 — = KB-112 125,000 158,000 [20254E5 4 1 B #
89 16507 Rt BB DGK-501C-A 221,000 241,000 [20254E5.8 1 H
89 16508 | B i LR DGK-221C-A 179,000 199,000 [20254E5 8 1 HiEH
89 16509 a4 HARAE i GK-500C 158,000 178,000 |20254E5 8 1 B A
89 16510/ d AR i GK-220C 116,000 136,000 [20254E5 4 1 B #
90 16511|7) =L RIA Ry o A CGK-500C 217,000 [ 237,000 [20254E5 4 1 A 36/
90 16512|7)— R IAR Y7 A CGK-220C 175,000 195,000 [20254E5 4 1 B #
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90 16516 thﬂﬂ (Bl AZARL =V INa0 14,900 18,400 [20254£5 A 1 H A
90 16520|7 7YY — (27 yh L—A]) |P-165 39,800 10,500 [20254E5 8 1 HiEA
90 165217 7 #V— (SR vh L—/Lff) |P-85 41,300 7,850|20254£5 A 1 H 1 ]
90 16522|7 7t ¥V — (hb— L —/Lf)) S-60 22,200 15,100 [20254E5 A 1 H 58
90 16523|7 7 & # ) — Ok L —/Lff) P-70 22,800 5,860|20254=5 A 1 H i ]
91 16524|RTA> V7 TP U— NRT b 2,020 2,830|20254E5 4 1 H i Al
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62 19655 7 24— 4 — SAGIHY SAG1-M-G 108,500 128,000 [20254E5 4 1 B #
62 19656| 1A 7 24— & — SAGIHY SAG1-M-GN 152,000 180,000 [20254E5 4 1 A &
62 19657| 7 24— 4 — SAGIHY SAG1-M-GB 141,000 165,000 [20254E5 4 1 B # A
62 19658| 1A 7 25— & — SAGIHY SAG1-M-C 115,000 139,000 [20254E5 4 1 A &
62 19659| 1724 — & — SAGIHY SAG1-M-CN 160,000 190,000 [20254E5 4 1 B #
62 19660| H A7 24— & — SAGIHY SAG1-M-CB 150,000 177,000 [20254E5 4 1 A &
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62 19661 |72 /r— & — SAGIH! SAG1-P-G 108,000 128,000 [20254E5 8 1 A @A
62 19662|H B Ar—&— SAGIEL SAG1-P-GN 152,000 180,000 [2025425 A 1 B @
62 1966317 Ar— & — SAGIH! SAG1-P-GB 141,000 165,000 [20254E5 8 1 A @A
62 19664 B Ar—&— SAGIEL SAG1-P-C 115,000 139,000 [2025425 A 1 B @
62 1966511 /r— & — SAGIH! SAG1-P-CN 160,000 190,000 [20254E5 8 1 A @A
62 19666 H 85 &r—&— SAGIEL SAG1-P-CB 150,000 177,000 [2025425 A 1 B @ A
63 19667 |15 A — & — SAG3H! SAG3-M-G 92,000 106,000 [20254E5 8 1 A @A
63 19668|H By A — & — SAG3HEY SAG3-M-GN 128,000 149,000 [2025425 A 1 B @ A
63 196691715 A — & — SAG3H! SAG3-M-GB 119,000 138,000 [20254E5 8 1 A @A
63 19670( %52 4r— & — SAG3%! SAG3-P-G 92,000 106,000 [2025425 A 1 B @ A
63 19671( %5 s r— & — SAG3%! SAG3-P-GN 128,000 149,000 [20254E5 8 1 A @A
63 19672|H B 5s Ar— & — SAG3EY SAG3-P-GB 119,000 138,000 [2025425 A 1 B @
63 196737 s Ar— 2 — SAGAR! SAGA-M-G 77,000 114,000 [20254E5 8 1 A @A
63 19674 B Ar— 42— SAGAEL SAG4-M-GN 108,000 164,000 [2025425 A 1 B @
63 19675l s /r— 2 — SAGAR! SAG4-M-GB 101,000 151,000 [20254E5 8 1 A @A
63 19676 B Ar— & — SAGAE! SAG4-P-G 77,000 114,000 [20254E5 A 1 B @
63 19677| Al s /r— 2 — SAGAR! SAG4-P-GN 108,000 164,000 [20254E5 8 1 A @A
63 19678|H B Ar— 42— SAGAE! SAG4-P-GB 101,000 151,000 [2025425 A 1 B @ A
63 19679l s /r— 2 — SAGHH! SAG5-M-G 69,800 107,000 [20254E5 8 1 A @A
63 19680 By Ar—&— SAGHEL SAG5-M-GN 99,000 158,000 [2025425 A 1 B @ A
63 19681 |l s /r— 42— SAGHH! SAG5-M-GB 91,000 137,000 [20254E5 8 1 A @A
63 19682|H B Ar— & — SAGHEL SAG5-P-G 70,000 108,000 [2025425 A 1 B @
63 19683l L Ar— & — SAGHH! SAG5-P-GN 100,000 160,000 [20254E5 8 1 A @A
63 1968411 Ar— 2 — SAGHH! SAG5-P-GB 91,000 137,000 [2025425 A 1 B @
65 19685 ?AE{‘%M@TW/A'_&_ SAGID-M-G 252,000 276,000 202545 5 1 B & A
65 19686 ?;E;%EEPFUT‘/& = SAG1D-M-GN 295,000 334,000 |20254E5 A 1 B &7
65 19687| AE{‘%M@T‘\/##&_ SAGID-M-GB 284,000 319,000 |20254E5 4 1 B # M
65 19688 ?;E;%EEPFUT‘/& = SAGID-M-C 258,000 287,000 [20254E5 8 1 A &
65 19689| AE{‘%M@T‘\/##&_ SAGID-M-CN 304,000 345,000 |20254E5 4 1 B # M
65 19690 ?;E;%EEPFUT‘/& = SAGID-M-CB 292,000 329,000 |20254E5 A 1 B /7
65 19691 ?AE{‘%M@TW/A'_&_ SAGID-P-G 252,000 276,000 2025458 1 B &
65 19692 ?;E;%EEPFUT‘/& = SAG1D-P-GN 295,000 334,000 |20254E5 A 1 B 7
65 19693 AE{‘%M@T‘\/##&_ SAGID-P-GB 284,000 319,000 |20254E5 4 1 B #
65 19694 ?;E;%EEPFUT‘/& = SAGID-P-C 258,000 287,000 [20254E5 8 1 A &
65 19695 AE{‘%M@T‘\/##&_ SAG1D-P-CN 304,000 345,000 |20254E5 4 1 B E M
65 19696 ?;E;%EEPFUT‘/& = SAG1D-P-CB 292,000 329,000 |20254E5 A 1 B &7
66 254791 5 3 ¢ 68 X 23H 4,500 5,500 |20254E5 A 1 H 1
195 14141|FEPAF — 7 By je—h 125ml 24,000 24,900 [20254E5 H 1 H & H
195 14142|FEPAF — 7 #45 jfim—k 250ml 26,200 27,100 2025425 A 1 A 18
195 14143|FEPA¥F — 7 B 4y jg— b 500ml 38,900 40,200 |2025425 5 1 B @
195 14144|FEPAF — 7 #45 jfgm— k 1000m! 45,500 47,000 [2025425 4 1 B A
195 14145|FEPAF — 7 Bl 4y je—h 2000ml 70,700 73,200 [20254E5 5 1 H & H
WEB 28659|iP-TEC®CO2 5% AAF L — 5L (27 L —Da 8,500 12,500 [20254E5 A 1 A 38
WEB 28660|iP-TEC®CO2 5% W AA S L — 5L |AZ—H—FE vk 78,000 83,000 [20254F5 A 1 H#&
WEB 30299(E" L AR— /LT 2K — PHT-1 198,000 224,000 [20254E5 8 1 A & 7
55 00004|R A% —,3—(C-33U—X) FAHMIER 1,400 1,540 (202545 H 1 B A
221 03044|HRV=t 2 25AN RV AT) 1,380 1,790 |20254E5 A 1 B &
396 142457 FAF w78k FAar 21 F 5,500 10,000 [20254E5H 1 H @
396 14260| 75 2F v 25k POM 21T 5,300 9,250 [20254E5 4 1 B 7
396 14275\ 7FAF 78 PP 21 F 5,300 9,250 |20254E5 H 1 A A
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380 07113|& 7 hak— % 32 g5 1,700 1,960 (202545 A 1 H 8 1
380 07114|% Zhk—2 38 H5¢ 2,100 2,420 [2025%E5 4 1 B A
380 07115|% 7 hik— % 50 G52 3,500 4,03020254E5 8 1 H M
380 07116|% Zhk—2 65 G5 4,600 5,290 [20254E5 A 1 B E A
380 07117|& 7 hak—* 75 )5 5,300 6,100|20254E5 4 1 H M
380 07118|% Zhik—2 90 H5¢ 6,400 7,360 [20254E5 A 1 HE A
380 07119|% 7 ki — % 100 G758 7,100 8,170|20254E5 4 1 H M
380 07120|% Zhik—2 125 G158 9,500 10,900 [20254E5 A 1 H# A
380 07121|& 7 hak—% 150 G)5¢ 13,700 15,800 [20254E5 F 1 H & 1
380 07122|4 Z/h—A 175 B15% 17,400 20,000 [20254F5 A 1 B8
380 07123|% 7 ki — % 200 )52 17,800 20,500 [20254£5 A 1 H )7
380 07124|4 7 hi—A 250 9)7¢ 20,800 23,900 [20254E5 A 1 B
380 07137|VSAH—=A AR 19 §)5¢ 1,750 2,010(20254E5 4 1 H &M
380 07138|VSA—A% A 25MM 58 2,000 2,300 (202545 A 1 B 8 F
380 07139|VSA—= AR 32MM Y7 2,290 2,630(20254E5 8 1 H M
380 07140|VSA—A A% 38MM 15 2,780 3,200 (20254E5 H 1 B E@ A
380 07141|VSAH—=A AR 50MM B1)5E 3,980 4,580 2025458 1 H M
380 07142|VSAH—A A#I 65MM 58 5,640 6,490 (202545 A 1 B 8 F
380 07143|VSAH—= AR 75MM Y58 7,270 8,360 |20254E5 4 1 H M
380 07144|VSAH—A A# 90MM 1172 10,240 11,800 [20254E5H 1 H @
380 07145|VSA—= AR 100MM H17¢ 11,100 12,800 (202545 F 1 H &4
380 07146|VSA—= A% 125MM H)5% 15,870 18,300 [20254E5 A 1 H @
380 07147|VSAH—A AR 150MM H15¢ 19,670 22,600 [20254£5 A 1 H )7
380 07148|VSA—= A% 200MM H5¢ 35,650 41,000 202545 A 1 H % A
391 07672 b =— AT FH 9X13 (4M) 1,920 2,170|20254E5 8 1 A &M
391 07673k =— N AT B 13X18 (4M) 3,080 3,460 [20254E5 A 1 HE A
391 07674/ =— AT FH 16X22 (4M) 4,570 5,170 (202545 A 1 A &6 1
391 07675 ke =— N _ A 7B 20X26 (4M) 5,420 6,110 [20254E5 A4 1 B A
391 07676|HE L =— L A F 26X32 (4M) 8,860 9,420 202545 5 1 H M
391 07677|HibE =— L AT H 28X34 (4M) 8,150 11,100 [20254E5 A 1 H @
379 07838|haay R—= 4X9(100m) 22,300 25,700 [20254£5 A 1 H )7
379 07839|ha 7R —2A 6X11(100m) 31,100 35,800 |2025%E5 H 1 H &
379 07840|haay R—= 8X13.5 (100m) 43,300 49,700 |20254E5 4 1 H &1
379 07841|hay R—2A 9X15 (100m) 52,500 60,400 |2025%E5 H 1 H % 3
379 07842|hay R—= 10X16 (100m) 56,200 64,600 [20254£5 A 1 H )7
379 07843|ha s R —2A 12X18 (100m) 62,800 72,200 |2025%E5 H 1 H &
379 07844|ha R—= 15X22 (100m) 93,300 107,000 |20254E5 A 1 B # A
379 07845|hay 7R —2A 19X26 (50m) 55,200 63,500 |2025%E5 H 1 H & 3
379 07846|haa R—= 25X33 (50m) 82,800 95,200 [20254£5 A 1 H )7
379 07847|ha R —2A 32X41 (50m) 114,800 132,000 |20254E5 A 1 B8 A
379 07848|hay R—= 38X48 (50m) 151,000 174,000 |20254E5 A 1 B # A
379 07849|ha 7R —2A 50X62 (40m) 187,300 216,000 |20254E5 A 1 B @ A
379 07850|haa R—= 63X80 (20m) 179,800 207,000 |20254E5. 8 1 B & A
380 07895|VSA—A A 19(50m) 76,100 87,700 [202545 A 1 H &
380 07896|VSA—A AR 25(50m) 86,800 100,000 |20254E5 A 1 B A
380 07897|VSA—A A 32(50m) 99,600 115,000 |20254E5 A 1 B 188 F
380 07898|VSA—=A AR 38(50m) 121,000 139,000 |20254E5 4 1 B # A
380 07899|VSA—A A 50(50m) 173,000 199,000 |20254E5 A 1 B i#8 F
380 07900|VSAH—=A AR 65(20m) 98,000 113,000 |20254E5 A 1 B # A
380 07901|VSA—A A% 75(20m) 126,500 146,000 |20254F5 A 1 B 188 F
380 07902|VSAH—=A AR 90(20m) 178,000 205,000 |20254E5 8 1 B & A
380 07903|VSA—A% A 100(20m) 193,000 207,000 [20254E5H 1 A @A
380 07904|VSAH—=A AR 125(20m) 276,000 317,000 [20254E5 8 1 A A
380 07905|VSA—A% Al 150(20m) 342,000 393,000 [20254E5 H 1 H# A
380 07906|VSA—A AR 200(10m) 310,000 357,000 [20254E5 8 1 A A
380 07920|4 7 b —A 32(50m) 74,770 86,100 [20254F5 A 1 H &
380 07921|% 7 ki — % 38(50m) 90,850 104,000 |20254E5 A 1 B # A
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380 07922|% 7 ki — A 50(50m) 91,800 106,000 |20254E5 A 1 B # /
380 07923| 4 7 h—A 65(30m) 120,500 139,000 |20254E5 A 1 B i# F
380 07924|% 7 ki — A 75MM (30m) 137,500 158,000 |20254E5 A 1 B # A
380 07925|4 7 b —A 90(30m) 167,200 192,000 |20254E5 A 1 B i#8 F
380 07926|% 7 ki — A 100(30m) 185,500 213,000 |20254E5 8 1 B & A
380 07927| 4 7 b —A 125(20m) 165,000 190,000 |20254E5 A 1 B i#8 F
380 07928|% 7 ki — A 150(20m) 239,000 275,000 |20254E5 8 1 B & A
380 07929|4 7 bk —A 175(20m) 303,000 348,000 [20254E5 H 1 A @ A
380 07930(% 7 ki — A 200(20m) 310,000 356,000 [20254E5 A 1 A &
380 07931|4 7 h—*A 250(10m) 180,500 208,000 [20254E5H 1 A @ A
380 07940|# 7 as—2 A It (7 R) 32/ 390 4502025425 5 1 H 81
380 07941|F 7 hax—=2 A 5t (7 R) 38/ 390 450(20254E5 8 1 B8
380 07942|# 7 as—=2 A 5t (7 R) 50/ 530 610(2025425 5 1 H 81
380 07943|% 7 —=2 A 5t (7 R) 657 800 920(20254E5 8 1 B
380 07944|% 7 ~R—A 1 It (B 7 R) 754 1,030 1,190 (202545 A 1 H 186 1
380 07945|% 7 —2 A 5t (7 R) 90 1,170 1,350 (202545 A 1 B A
380 07946|# 7 as—2 A It (7 R) 100/ 1,510 1,740 (2025425 8 1 B # 4
380 07947|% 7k —2 A 5t (7 R) 125/ 2,430 2,800 [20254E5 A 1 B A
380 07948|# 7 as—2 A It (7 R) 150/ 3,390 3,900 [20254E5 8 1 A &
380 07949|% 7k —= A 5t (7 R) 175/ 9,800 11,300 [20254E5 A 1 B @A
380 07950(# 7 as—2 A It (7 R) 200 4,250 6,760 [20254E5 8 1 B # 4
380 07960|% 7 hR—RBL AU A ¥ — /R 32/ 100 160 [20254E5 5 1 B 88 FH
380 07961|% /bR —ABHY A Y — /K 38H 100 160(20254=5 8 1 B &
380 07962|% 7~ — 2B [T A — /R 50/ 120 190 (20254E5 4 1 B8 FH
380 07963|% 7 bR — ALY A Y — /N 65 140 220(20254E5 8 1 B &
380 07964|% 7 R — 2B AU A — /R 75 150 27020254558 1 B
380 07965|% 7 bR — ALY A Y — /N 90 250 4002025458 1 B &
380 07966|% 7 hR—RBL DAY — /R 100/ 270 420(20254E5 8 1 B
380 07967| % 7 hR—ABLFA DA ¥ — /R 125/ 430 7002025455 1 H &
380 07968|% 7~ — 2B U A — /R 150/ 960 1,490 |2025%E5 4 1 H# A
380 07970| 7L A —ATHI 38(5M) 13,000 13,900 [20254E5 F 1 H &
380 07971|7 LR —ATHI 50(5M) 15,500 16,500 [20254E5 H 1 A @ A
380 07972| 7L F A —ATHI 65(5M) 22,000 23,500 [20254£5 A 1 H 1 )7
380 07973| 7L R —ATHI 75(5M) 24,000 25,700 [20254E5 A 1 B A
380 07974| 7L 3 —ATHI 90(5M) 25,000 26,700 [20254£5 A 1 H 1 )7
380 07975|7 L2k —ATHI 100(5M) 26,000 27,800 [20254E5 A 1 B A
380 07976| 7L 3 —ATHI 125(5M) 39,000 41,700 (2025455 A 1 B &
380 07977| 7L R —ATHI 150(5M) 56,000 60,000 [20254F5 A 1 B8
380 07978| 7L A —ATHI 200(5M) 75,000 80,300 |20254E5 A 1 H T A
380 07980| 7L ¥R —ATHI [ 5T (7 A) 38/ 760 970(20254E5 8 1 B FH
380 07981| 7L A—ATH O ¢ (W7 A) 50/ 920 1,150 (202545 A 1 H 386 1
380 079827 L ¥ AR—ATH A 5t (7 R) 651 1,290 1,640 (2025425 A 1 B &8 F
380 07983| 7L A —ATH O 55 (W7 A) 75/ 1,590 2,010/20254E5 5 1 H &
380 07984| 7L F R —ATH [ 3¢ (7 A) 90 2,700 3,460 [20254E5 A 1 B E A
380 07985| 7L A —ATH O 55 (W7 A) 100/ 2,770 3,460 [20254E5 8 1 A &
380 07986 7L F AR —ATH [ 5T (7 A) 125/ 3,250 4,200 [20254E5 A 1 B A
380 07987| 7L A —ATH O 55 (I 7 A) 150/ 4,630 6,000 [20254E5 8 1 B 4
380 079887 L ¥ AR— AT A 5t (7 R) 200/ 7,420 9,610(20255E5 A 1 B &
384 08000 =—/ /L7 4 /L L —h 0.03X915MM (100M) 11,700 11,800 [20254E5 A 1 H 18
384 08001 =—/L 7 4 )L LS —] 0.05X915MM (100M) 12,800 14,100 |2025%25 A 1 B & A
384 08002|E=—/L 7 4L L —h 0.08X915MM (100M) 13,900 15,300 [20254E5 A 1 H 18
384 08003|’=— /L7 )L AT —h 0.1X915MM (100M) 17,550 19,100 [20254E5 A 1 H @ A
384 08004|E=—/L7 (/L LS —h 0.2X915MM (50M) 17,550 19,200 [20254E5 A 1 H &
384 08005|E'=— /L7 )L AT —h 0.3X915MM (30M) 15,800 17,300 [20254E5 A 1 B @ A
384 08007|E=—/L7 (/L LS —h 0.5X915MM (30M) 26,300 28,700 |20254E5 4 1 H &
384 08030|E’=— /L7 )L AT —h 1.0X915MM (10M) 21,400 21,400 |2025%E5 H 1 H &
384 08032|E=— /L7 (/L LS —h 2.0X915MM (10M) 42,800 42,800 (202545 A 1 B &
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384 08033 =—n7 v 23 —1 3.0X915MM (10M) 64,200 64,800 |20254E5 8 1 H &
384 08034|E’=— /L7 )L A3 —h 5.0X915MM (5M) 53,500 54,200 [20254E5 A 1 H % H
384 08050|PE>—h #H 0.3X1000MM 910 1,140 (2025425 A 1 H )1
384 08051|PE>—hk #X'E 0.5X1000MM 1,520 1,890 (202545 A 1 B FH
384 08052|PE> —h #H 0.8X1000MM 2,500 3,110|20254E5 A4 1 A &6
384 08053|PE>—hk #X'E 1.0X1000MM 3,010 3,760 |20254E5 A 1 A @ H
384 08054|PE>—h #H 1.5X1000MM 4,480 5,620 |20254E5 A 1 A &6 1
384 08055(PE> —h #X'E 2.0X1000MM 6,000 7,490 |20254E5 A 1 B @ H
384 08056|PE> —h #H 3.0X1000MM 9,040 11,300 [20254E5 8 1 H &
379 08816|ha s 7R—2% 4X9 4152 260 310|2025%E5 5 1 HE A
379 08817|haay k—= 6X11 H)5¢ 360 430120254858 1 R H
379 08818|ha 7R —2% 8X13.5 HI5¢ 500 600 (2025455 1 B8 F
379 08819|haa R—= 9X15 52 600 720(20254E5 8 1 B E A
379 08820|ha 7R —2% 10X16 452 650 7802025455 1 H#E A
379 08821|hay R—= 12X18 )5 720 870(20254E5 8 1 R
379 08822|~amy A —= 15X22 452 1,070 1,290 (202545 A 1 B FH
379 08823|haay R—= 19X26 )58 1,270 1,520(20254E5 8 1 B # A
379 08824|~amy A —= 25X33 Y5 1,900 2,280|2025E5H 1 H#E A
379 08825|haay R—= 32X41 Yl5¢ 2,640 3,170[20254E5 8 1 A& A
379 08826|~amy A —= 38X48 YJ5E 3,470 4,170|20254E5H 1 B#@ A
379 08827|haa R—= 50X62 Y5 5,380 6,460 [20254E5 A 1 B # A
379 08828|~amy A —= 63X80 Y5 10,340 12,400 [2025%E5H 1 H#
374 08853| RV =FL o Fa—T 2X4 53 80|20254E5 4 1 A & 1
374 08854| RV =FL > Fa—7 3X5 68 80|20254E5 A 1 H %
374 08855| RV =FL o Fa—T 4X6 82 90|20254E5 8 1 A & 1
374 08856| RV =FL o Fa—7 5X7 95 110|20254E5 5 1 B % F
374 08857| RV =FL o Fa—T 5X8 160 17020254858 1 R & H
374 08858| RV =FL v Fa—7 6X8 116 1202025425 5 1 B % F
374 08859| RV =FL o Fa—T 6X9 180 20020254858 1 R H
374 08860| RV =FL > Fa—7 6X10 250 280202545 5 1 B & F
374 08861| RV =FL L Fa—T 7X9 130 140|20254E5 8 1 R & H
374 08862| RV =FL > Fa—7 7X10 200 220202545 5 1 B &
374 08863| RV =FL L Fa—T 8X10 140 15020254858 1 R & H
374 08864| RV =FL > Fa—7 8X11 230 250202545 5 1 B &
374 08865|RY=FL o Fa—T 8X12 310 340(20254E5 8 1B E A
374 08866| RV =FL > Fa—7 9X11 160 1802025425 5 1 B % F
374 08867| RV =FL L Fa—T 9X12 250 27020254858 1 R &
374 08868| RV =FL > Fa—7 10X14 380 4201202545 5 1 B &
374 08869| RV =FL o Fa—T 12X15 317 350(20254E58 1 B # A
374 08870| RV =FL > Fa—7 13X17 460 510(20254E5 4 1 B8 A
374 08871| RV =FL o Fa—T 15X18 380 420120254858 1 R H
374 08872| RV =FL > Fa—T 16X22 800 890202545 4 1 A & F
374 08873| RV =FL o Fa—T 19X23 650 720(20254E5 8 1 B E A
374 08874| RV =FL > Fa—T 21X27 1,100 1,230 (202545 4 1 H#E A
374 08875| RV =FL o Fa—T 25X31 1,290 1,450(20254E5 8 1 B # A
374 08876| RV =FL > Fa—7 28X34 1,420 1,600 |20254E5 4 1 H # A
374 08877| RV =FL o Fa—T 32X38 1,610 1,820(20254E5 8 1 B # A
374 08878| RV =FL > Fa—T 35X42 2,200 2,310(20254E5 A 1 HE A
372 08882t =— L F 2 — 2X4 33 45(20254E5 A 1 H B A
372 08883t =— L F2—7 3X5 47 60|20254E5 A 1 H &
372 08884|t =— L F 2 — 3X6 74 90|20254E5 8 1 A & 1
372 08885t =— L F2—7 4X7 87 1002025425 5 1 B % F
372 08886|t' =— L F 22— 4X6 55 60|20254E5 8 1 A & 1
372 08887t =— L F2—7 4X8 130 1502025425 5 1 B % F
372 08888|t =— L F 2 —7F 5X7 64 70 |20254E5 8 1 B # A
372 08889t =— L F 22— 5X8 105 110 |20254E5H 1 B &
372 08890|t =— L F 22— 5X9 150 160 |20254E58 1B &M
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372 08891[E =— L F=—F 6X8 76 80 [2025%4255 1 A 3
372 08892 =— L F2—7 6X9 120 130 [20254E5 4 1 B
372 08893[E =— L F=—F 6X10 170 180 [20254E5 4 1 A &)
372 08894 =— L F2—7 6X12 284 310 |20254E5 4 1 B A
372 08895 =— L F=—F 7X9 85 92 [20254258 1 A & A
372 08896|c =— L F2—7 7X10 140 150 [20254E5 4 1 B
372 08897[c =— L F=2—7 7X11 190 210 [20254E58 1 B
372 08898[c =— L F2—7 8X10 97 100 (20254554 1 B
372 08899 =— L F=—F 8X11 150 160 [20254E5 4 1 A &)
372 08900 =— L F2—7 8X12 210 230 |20254E5 4 1 B A
372 08902[E =— L F=—F 8X14 350 380 [20254E58 1 B
372 08903[c =— L F2—7 9X11 106 110 [20254E5 4 1 B
372 08904t =— L F=—7 9X12 170 180 [20254E5 4 1 A &)
372 08905 =— L F2—7 9X13 230 250 |20254E5 ) 1 B A
372 08906|E =— L F=—F 9X15 380 410 [20254258 1 A 38
372 08907[c =— L F2—7 10X12 120 130 [20254E5 4 1 B
372 08908[E =— L F=—F 10X13 180 190 [20254E5 41 R &)
372 08909 =— L F2—7 10X14 250 270 |20254E5 4 1 B A
372 08910[c =— L F=2—7 10X15 330 360 |20254E58 1 B
372 08911 =—LF=2—7 10X16 410 440 |20254E5 A 1 B 38
372 08912[c=—nF=2—7 12X14 140 150 [20254E5 4 1 A &)
372 08913[c =— L F2—7 12X15 210 230 |20254E5 4 1 B A
372 08914t =— N F =27 12X16 296 320 [20254E58 1 B
372 08915 =— L F2—7 12X18 470 510 |20254E5 4 1 B A
372 08916|E =— L F=—F 13X16 230 250 [20254E58 1 B
WEB 14?’22; g\%ggﬁ\t%@@ﬂ%:ﬂ e PN BEfi% 20254855 1 A &)
. 14?2532 T )5 HK BEf 20254558 1 H M
WEE 14(1%215;1; o R RS ARk BEE 2025455 1A
26901~ o “
WEB 2%%92112; g%&%gt%ﬁ@ﬁ e N BEf% 20254855 1 A )T
26932
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